MODEL : PELLE" Step 1 : Tighten the legs (D) to both headboard (A) and footboard (B) as shown. Step 2 : Attach side rail (E) to headboard (A), footboard (B) by pushing the bracket down

(3'5") to fit it.
A Headboard I pe
B W 1pc
Footboard

1pc

1097mm "%
Slat 13 Pcs

D \ Legs | 2pes

Side Rail

2 pes

rundle Front Panel (PU)

G ﬁ 2 pcs

Trundle Side Panel

Step 3 : Tighten the 4 Corner's with Allen Key (1).Install the slats (C) to side rail. Tighten the Step 4 : Attach trundle side panel (G) and trundle front panel (F) by pushing
- 1 pe slats with CSK screw (3).The distance of the slats should be sufficient to obtain the bracket down to fit it.
St 7o desirable bed stability.

Bottom Panel

Packing Hardware

! \ 1 pc

M4 x 100 mm

N\
)

11111111114

11

2 \ 1 pc

M5 x 70 mm

3 M cskmax2mm |64 pes

Roller 6 pcs

3

s Q) 16 pes

JCBB M8 X 20

8 pcs

JCBC M6 X 50




A[}I9.110D PI[qUIASSE ST PA( AY) INSUI 0) SUON)INISUI [V [[€ MO[[0] ISBI[J

-orpuny oy} ojur () [oued o asuy : £ daig

“Anpiqess poq rewndo 1oy 11ede paoeds AJuoAd pa[[elsur 9q p[noys sje[s oy L,
*(€) Ma19s SO YA syefs oyl uoySrL () (oued juoiy ojpunyy 03 (H) sie[s oy [ressuy : ¢ doig

-9101dwod st Ajquuassy : § daig

(4R

“(H) 1er8

ay 38 (€) MaI108 SO PIM () o701 oY} U)YSH) pue WeISeIp M0[dq St IPIS JSYIoue 0} d[puniy ayy wny, : 9 doig




